Practice Exercise Answers, Lesson 15

1. FTXUADERRNEDODS 5 ALFFEETITN,

(0]

(0]

2. £D35

(0]

X I
This one is wrong.

O_7T

This is right. The translation is: "Among American food, what do you like best?"

X_&

This one is wrong.

X_ &

This one is wrong.

< TRAZIEDAIZEATI N,
O_%

This is right. The translation is: "Did all the students order the delivery?"
o_n

This is right. The translation is: "Which student(s) ordered the delivery?"
X &

This one is wrong. A question word, such as IZh, £h, £NX, 1], cannot be followed by (&.

_X_ © (no particle)

This one is wrong. This one is wrong. A question word, such as IZh, £h, £DX, 4d], cannot

be followed by the "zero" particle.

_0_I(2



This is right. The translation is: "To which student did you ask the delivery?"

3. IWERTAXHNEETA MEXL L,
o X X

This one is wrong. X is used to connect Nominals, e.g. "N\ X ClFA ; I—E—% &3,
o O (Z
This is right. The translation is: "l asked people like Yamamoto and Murata."

o O A

This is right. The translation is: "People like Yamamoto and Murata asked."

o X &

This one is wrong.

o O %

This is right. The translation is: "(In addition to some other people) people like Yamamoto and

Murata were also asked."

o O &

This is right. The translation is: "(I) asked with people like Yamamota and Murata."

o O &

This is right. The translation is: "People like Yamamoto and Murata, at least, asked."

4. TOHEL'D o
o O LT

This is right. The translation is: "Please decide on that sweet one." (casual speech)

o X_AFBELLLK



(0]

This one is wrong. It should be: "EDHEVDDOFAH WL V&K, "Since TEDHELD and
7 are both Nominals, a connective @ is necessary. Note that H E WV EAS WL L is

possible, meaning "(The) sweet one tastes better."
O_ &), ThzezBEWEL &S

This is right. The translation is: "Rather than that sweet one, let's buy this one."

5 _  OT, @>TLEXT,
o X _BAEsSV
This one is wrong. It should be: "B AESWENDT, > TVET, "
o O_COREALV
This is right. The translation is: "We are in trouble because this meat is tough."
o X WENTFIE
This one is wrong. It should be: "RFEA TFBENDT, M>TVWERT, "
o O_ntRITED
This is right. The translation is: "We are in trouble because s/he is too peppy."
6. MR__ INBDEBVERT,

(0]

0

(0]

(0]

_O_&WiF

This is right. The translation is: "l understand better than the division chief, at least."
X &

This one is wrong. |& & requires a negative predicate.

_O_4&W)

This is right. The translation is: "l understand better than the division chief."

X_DA



This one is wrong. It must be: "EBRD AN 9 A B EBVWE T, " The & cannot be dropped,

here.
o _O_ICi&
This is right. The translation is: "It is comprehensible at least to the division chief."

7. \J:_a)*iﬁé/bb\‘ o
o X_SAFVWERLILE

This one is wrong. D # A"WE U 2 is humble. &E & (27 V) ¥ U /= is the appropriate form.
o O _HLBAYVFRLL

This is right. The translation is: "The president of Sony ate (it)."
o X_B2hLELE

This one is wrong. To express "(I) took the president of Sony (somewhere)" the phrase

particle should be %.
o X_BBEIKAHLYEV

This one is wrong. To express "(l) would like to meet the president of Sony" it would be
"WZ—DOHEREAICLEBICHA DV 2L, " Note that "The president of Sony would like to
meet (someone)"is "V Z—DHHREANBWVICEY 2L, "

8. N5, Beo&E...
O COREREHASV

(0]

This is right. The translation is: "Because this food is spicy...(I don't want/can't eat it.)"
o X &£35&L&KY

This one is wrong. It needs 72 before ' 5.
o O_COO—E—RGITEET

This is right. The translation is: "Because this coffee is too strong...(I don't want/can't drink
it.)"



o X_BBEAHNV2EL

This one is wrong. It needs 72 before #' 5.
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